> C[1,1] :=-A; C[1, 2] = A; #iHHt###H# First Row
> forifrom1toNO+ 1doC[2i,1] := ¢~pi od; ##H#HHHHE First Column
>

for j from 1 to NO do

forifrom 1toNO + 1 do

ifj <ithen

C[24,2:j] = ¢-p' /-q;

elif j =i then

C[2-i,2]] =-x;
end if
od; od;
> forifrom1toNO+ 1doC[2-i 4+ 1,21 — 1] := W; od;
>
> forifrom1toNOdoC[2-i,2-i +2] := A C[21 4+ 1,2-1 + 3] := A; od:
> forifromltoNOdo C[2-1+ 1,2-i+ 1] :=-y;0d:
> forifrom1toNO+ 1do C[2:,2-i + 1] := pac; od:
> forifrom2-(NO+2)toNdoCli,i — 1] =W C[i — 1,i] := A, C[i — 1,i — 1] ==~y; od:
> CIN,N]=-p;
> C[2'NO+2,2-NO + 2] == -wac — o-p



